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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

What value should come in the place of question mark(?)in the following questions.

32 × 38 + 23 × 6 − 154 = ?

(A)1250 (B)1200 (C)1300 (D)1100 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

√256 × 14+ 246 ÷ 6 + 120= ?

(A)354 (B)485 (C) 285 (D)385 (E)None of these
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What value should come in the place of question mark(a)in the following questions.

16²× 4³ ÷ 8⁴ = 2ª

(A)2 (B)3 (C)4 (D)5 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

23 × 4 +  12× 9 = ? + 88

(A)132 (B)102 (C)122 (D)112 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

√484 × 8 − 56 = ? + 60

(A)50 (B)60 (C)70 (D)65 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

(7² + 9² ) +36 =  2 × ?

(A) 53 (B)63 (C)83 (D)73 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

13137 ÷ 29 = ? + 4551 ÷ 123 

(A)416 (B)432 (C)453 (D)375 (E)402
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What value should come in the place of question mark(?)in the following questions?

77 × 89 − 12³ − 212 = ?³

(A)13 (B)14 (C)15 (D)19 (E)None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E04613

What value should come in the place of question mark(?)in the following questions?

313 × 17 + 19 × 16 = ?²

(A)65 (B)78 (C)81 (D) 84 (E)None of these
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What value should come in the place of question mark(a)in the following questions?

264 ÷ √576 + (11)² + 12 = (?)²

(A)44 (B)24 (C)15 (D)14 (E)12
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What should come at place of the question mark (?) in the following number series ?

358 ,  263 , 187 , 130 , ? , 73

(A)92 (B)90 (C)88 (D)94 (E)100
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What should come at place of the question mark (?) in the following number series ?

14 , 56 , 252 , 1260 , 6930  , ?

(A)31815 (B)38115 (C)41580 (D)45180 (E) 44100
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What should come at place of the question mark (?) in the following number series ?

90 , 110 ,  132 , 156 , 182 , ?

(A)207 (B)307 (C)309 (D)323 (E)210
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What should come at place of the question mark (?) in the following number series ?

8 , 40 , ? , 320 , 820 , 2070

(A)100 (B)120 (C)130 (D)125 (E) 140
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What should come at place of the question mark (?) in the following number series ?

9 , 15 , 27 , ? , 99 , 195

(A)53 (B)51 (C)54 (D)56 (E)52
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(A)300 (B) 60 (C)240 (D)120 (E)200

E04613

1 . 
𝟑

𝟓
of a number is 30 more than 50 percent of the same number. What is 80% of that 

number?
किसी संख्यािा 3/5, उसी संख्या िे 50 प्रकिशि से 30 अकिि है। उस संख्यािा 80% क्या है?
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(A) 560000 (B)480000 (C)600000 (D)576000 (E)640000

E04613

2 . The ratio of income of two persons P and Q was 6 : 7 last year. This year, the income of P 
is increased by 20% and that of Q by 40,000. If their income are now in the ratio of 24 : 25, 
the income of P was 
किछले वर्ष दोव्यक्तियोंP औरQ िीआयिाअनुिाि 6:7 था। इस वर्ष, P िीआयमें 20% औरQ 
िीआयमें 40,000 िी वृक्ति हुई है। यकद उनिीआयअब 24 : 25 िे अनुिाि में है, िो P िीआय
थी
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(A) 9 days (B)7.5 days (C) 6 days (D)12.5 days (E)None

E04613

3 . If 5 men and 3 women can complete a work in 15 days whereas 15 men and  9 women can 
complete this work in 5 days. Find in how many days 10 men and 6 women can complete 
this work? 
यकद 5 िुरुर्और 3 मकहलाएं एििायष िो 15 कदनो ं में िूरा िर सििे हैं जबकि 15 िुरुर्और 9 
मकहलाएं इसिायष िो 5 कदनो ं में िूरा िर सििे हैं। ज्ञाििीकजए कि 10 िुरुर्और 6 मकहलाएं इस
िायष िो कििने कदनो ं में िूरा िर सििे हैं?
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(A) 77:63 (B)101 : 91 (C)107 : 93 (D)115:101 (E)None

E04613

4. In two vessels ratio of milk and water is 5:3 and 5:7 respectively. They are mixed together 
in 5:4 . Find the ratio of milk and water in the final mixture. 
दो बिषनो ं में दूिऔर िानी िा अनुिािक्रमशः 5:3 और 5:7 है। उन्हें 5:4 में एिसाथ कमलाया गया
है। अंकिम कमश्रणमें दूिऔर िानीिा अनुिाि ज्ञाििीकजए।
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(A)Inc by 29.6% (B) dec by 29.6% (C)Inc by 32.6% (D)dec by 32.6% (E)None

E04613

5. Radius of a cone is increased by 20% and its height is reduced by 10%. Find the 
percentage change in its volume.
एि शंिु िी किज्या 20% बढा दी जािी है और इसिी ऊंचाई 10% िमिर दी जािी है। इसिे
आयिनमें प्रकिशि िररविषन ज्ञाििीकजए।
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(A)18 years (B) 22 years (C)19 years (D) 27 years (E)23 years

E04613

6. The ratio of present ages of D and S is 3 : 5 respectively. 5 years ago the ratio of their ages 
was 10 : 25 respectively. What will be S's age after 7 years? 
D और S िी विषमानआयु िाअनुिािक्रमशः 3:5 है। 5 वर्ष िहले उनिीआयु िाअनुिािक्रमशः
10:25 था। 7 वर्ष बाद S िीआयुक्या होगी?
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(A) 15000 (B)16000 (C) 12000 (D)17500 (E)CND

E04613

7. The sum of salary of three persons A,B and C is Rs. 72000. They spend 80, 85 and 75 
percent of their salary respectively. If ratio of their savings is 8 : 9 : 20, what is A’s salary? 
िीनव्यक्तियोंA,B औरC िे वेिनिा योग रु. 72000. वे अिने वेिनिाक्रमशः 80, 85 और 75 
प्रकिशिखचष िरिे हैं। यकद उनिी बचििाअनुिाि 8:9:20 है, िोA िा वेिनक्या है?
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(A)36% (B)48% (C)52.5% (D)40% (E)Data Sufficient

E04613

8. A milkman mixes 80  liter of milk and 20 liter of water. He sells this mixture at cost price 
of milk after selling 25% of mixture he add water to refill it. If sells this mixture also on cost 
price of milk then find his profit percent on new mixture?
एि दूिवाला 80 लीटर दूिऔर 20 लीटर िानी कमलािा है। वह इस कमश्रणिो दूि िे क्रय मूल्य
िर बेचिा है, कमश्रणिा 25% बेचने िे बाद इसे किर से भरने िे कलए िानी कमलािा है। यकद इस
कमश्रणिो भी दूि िे क्रय मूल्यिर बेचा जािा है िो नए कमश्रण िर उसिा लाभ प्रकिशिज्ञाि
िीकजये?
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16 . A bag contains 4 red marbles, 3 blue marbles and 6 green marbles. 8 marbles are drawn at 
random. What is the probability that the drawn marbles has no blue marbles?
एक बैग में 4 लाल पत्थर, 3 नीले पत्थर और 6 हरे पत्थर हैं । 8 पत्थर यादृच्छिक रूप से 
ननकाले जाते हैं । क्या संभावना है कक ननकाले गए माबबल्स में नीली पत्थर नह ं हैं?

(A)
𝟏

𝟏𝟒𝟑
(B)

𝟏𝟒𝟐

𝟏𝟒𝟑
(C)

𝟓

𝟒𝟐𝟗
(D)

𝟓

𝟏𝟒𝟑
(E)

𝟗

𝟏𝟒𝟐𝟔

E04613
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17 . Two workers A and B can do a piece of work in 16 days and 24 days respectively. If both started 
to work and A left the work after 2 days, then in how many days the remaining work is completed 
by B.
दो श्रनमक A और B क्रमशः 16 कदन और 24 कदनों में एक काम कर सकते हैं। यकद दोनों ने 
काम करना शुरू कर कदया और A ने 2 कदन बाद काम िोड़ कदया, तो ककतने कदनों में शेष 
कायब B द्वारा पूरा ककया जाता है।

(A)24 days (B)20days (C)21days (D)19days (E)23days

E04613
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18 . A shopkeeper marked the price of an article 25% above the cost price and allowed two 
successive discounts of 15% and 24% respectively to a particular customer. As a result, he incurred 
a loss of Rs. 462. At what price did he sell the item to customer?
एक दकुानदार ने एक वस्तु की कीमत लागत मूल्य से 25% अनिक अंककत की और एक 
ववशेष ग्राहक को क्रमशः 15% और 24% की दो क्रनमक िूट की अनुमनत द  । नतीजतन, 
उसने रु. 462 का नुकसान उठाया। उसने ग्राहक को वस्तु ककस मूल्य पर बेची?

(A) 2000 (B) 1928 (C) 1948 (D)1958 (E)1938

E04613
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19 . If the difference between the simple interest and the compound interest earned on a certain 
amount @ 12% at the end of 3 years is Rs. 336.96, then what is the amount?
यकद 3 वषब के अंत में एक ननच्ित रानश पर  12% की दर से अच्जबत सािारण ब्याज और 
चक्रववृि ब्याज के बीच का अंतर रु. 336.96, तो रानश क्या है?

(A)8550 (B)8000 (C)7500 (D)8750 (E)7700

E04613
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20 . Seven years ago, the ratio of the age of A to that of B, was 5: 9. C is 12 years older than A and 12 
years younger than B. What is C’s present age?
सात वषब पहले, A की आयु का B से अनुपात 5: 9 था । C, A से 12 वषब बड़ा है और B से 12 
वषब िोटा है। C की वतबमान आयु क्या है?

(A) 47 years (B) 49years (C)41years (D)43years (E)54years

E04613
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Directions (Q. 21-25):-Read carefully following table answer given question according 

to it- Selling of Mobile phone in different shops in the month of August-2015

कनम्नकलक्तखि िाकलिा िे अनुसार कदए गए प्रश्ो ं िे उत्तर ध्यान से िढें-अगस्त-2015 माह में

कवकभन्न दुिानो ं में मोबाइल िोन िी कबक्री

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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21 . What is the average no. of mobiles sold at shop A, D and E?

औसत संख्या क्या है? दकुान A, D और E पर बेचे गए मोबाइलों की संख्या ककतनी है?

(A)600 (B)630 (C)670 (D)650 (E)640

E04613

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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22. Which two shop had equal in no. of sold mobile?

ककन दो दकुानों में बेचे गए मोबाइल की संख्या बराबर थी?

(A)A and C (B)A and E (C) B and E (D)A and B (E)C and D

E04613

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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23 . Mobile brand of Samsung in all shops is how much % more/less than mobile brand of Sony in all 
shops?(approximately) 
सभी दकुानों में सैमसगं का मोबाइल ब्ांड, सभी दकुानों में सोनी के मोबाइल ब्ांड से ककतना% 
अनिक/कम है?(लगभग)

(A)8%more (B) 11%more (C) 11%less (D)17%less (E)19%more

E04613

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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24 . Average of mobile Samsung and Motorola is how much more/less than average of mobile Sony 
and LG?
मोबाइल सैमसंग और मोटोरोला का औसत मोबाइल सोनी और एलजी के औसत से ककतना 
अनिक/कम है?

(A)33.4 (B)42.9 (C)49.4 (D)55.7 (E)None of these

E04613

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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25 . Mobile brand of Nokia in shop B and E is what % of mobile brand of LG in the same 
shop?(approximately) 
दकुान B और E में नोककया का मोबाइल ब्ांड समान दकुान में LG के मोबाइल ब्ांड का ककतना 
प्रनतशत है?(लगभग)

(A)200% (B)179% (C)55% (D)79% (E)44%

E04613

Mobile 
Brand    

Shop                                                                                                                 

Samsung Nokia Sony Motorola L.G.

A 160 130 120 114 102

B 126 170 132 105 93

C 178 198 133 109 95

D 189 177 148 112 77

E 111 143 155 100 82
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(A)4 (B)2 (C)7 (D)3 (E)None

E04613

24 . The whole Number W is divisible by 7. W leaves a remainder of 1 when divided by 2, 3, 
4 or 5. What is the sum of the digits of smallest value of W? 
िूणष संख्याW, 7 से कवभाज्य है। 2, 3, 4 या 5 से कवभाकजििरने िरW शेर् 1 छोड़िा है।W िे
सबसे छोटे मान िे अंिो ंिा योगक्या है?
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(A)27000 (B)29000 (C)30000 (D)31000 (E)None

E04613

25 . In an election between two candidates, one got 55% of the total valid votes, 20% of the 
votes are invalid. If the total votes are 75000, what is the number of valid votes that the other 
person got? दो उम्मीदवारो ं िे बीच एि चुनाव में, एििो िुल वैि मिो ंिा 55% प्राप्तहुआ, 
20% मिअमान्यहैं। यकद िुल मि 75000 हैं, िो दूसरे व्यक्तििो कमले वैि मिो ंिी संख्या कििनी
है?
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